LAKESIDE Class Work
ACADEMY Exponents 2
Name:

Understanding Exponents
Last Name:

al=1 al=a

Exponents ¥ am e g

an — all] = al] -m

I. Solve these for warm-up:

1. 152 = 4, 5.52 = 7. (-5)3 =
2. 452 = 5. 6.52= 8. —bi=
3. 0.12= 6. (-5)= . (L5)i=

II. Using the laws of exponents first simplify, than (and only than!) solve:

1. 28+21= 6. 154+ 152=

2. 23+ 2%= 7. 1014+ 1013 =
3. 28+23= 8 923x 25+ 95 =
4. 27+ 256 = 9. 28x20+2=
5. 97+ 95= 10. 316 X 325 + 340 =

ITI. Using the laws of exponents simplify the following:

1. ataZz2+a= 5. a’xad+gt=
2. aXa?zxa= 6. a’+ ad+ ag?=
3. 4b+3b-2b= 9, af —gf ¥ g2 =

4., 4dbx 3b+2b = 8 agb+ gl=



Home Work
Exponents 2

I. Solve these for warm-up:

1.

BB

752 =
1052 =
0.13 =
0.012 =

® N oo W

Exponents

7.52 =
10.52 =
(-0.2)2=
(~0.2)3 =

al=1 al=a

N ¥ gl = gh+1m
a a a

aﬂ e am = an e T

9. —0.22=
10. - 0.23 =
11. - 0.54 =
12. (-0.5)4 =

II. Using the laws of exponents first simplify, than (and only than!) solve:
8. 1.54+1.52=

9. 0.18+0.13=

10. 22 X 23 + 23 =

11. 22 + 23 + 93 =

= 2 M

=

53 = 50 =
53+ 5l =
53+ 52 =

B3+ B3=
O i B8 o
37+ 84 =
109107 =

12,22 - 23 + 22 =
13. 73X 70+ 7=
14. 72 X 71+ 75 =

III. Using the laws of exponents simplify the following:

1
2
3
4.
5
6

92+ 92+ g2 =
a2><32><3_2:
924+ g3+ g2 =
92X g3 X g2 =
42 + 322 — 2a% =

492 X 3a2+ 2a2=

e
8.
9.
10.
1L,

12.

47X g3+ g4 =
ad+ad+a’=
gl — 5l K ig2=
an X gm =
ar + gm =

ar X g™~ alt =




